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16 (A)

MATHEMATICS, Paper - IT
(English version)
(Parts A and B)
Time : 2 hrs. 45 min.] [Maximum Marks : 40

Instructions :
I.  Read all questions. 15 minutes of time is allotted exelusively for reading the
Question Paper and 2.30 hours for writing the answers.

2. Part - A answers should be written in separate answer book,
3. There are three sections in Part-A.

4.  Answer all questions.

4. Every answer should be written visibly and clearly,

6.  There is internal choice in section - I11.

Time : 2 hours Marks: 30

SECTION - ] (Marks : 4x1=4)

Note: (i) Answerall the questions,
i) Each question carries 1 mark.

AL
1. InAABC, LM //BCand ol

IB 3 AM = 5 cm, find AC,

2.  Evalute gin 15°. sec 75°.
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A box contains 3 blue and 4 red balls, What is the probability that the ball
taken out randomly will be red 7

The mean for & grouped data is calculated by f=a+—27£&f$- :
- i
What do the terms °f; and 'd;’ represent in the above formula ?

SECTION - II (Marks : 5x2=10)

Note: (i) Answerall guesiions.

(it} Each guestion carries 2 marks,

5. If the distance between two points (x, 1) and (-1, 5) ie '6’, find the value of "x'.

§. Tind the length of the tangent from a point 13 cm away from the centre of the
circle of radius 5 em.

7. If cosde= %ﬁ . {then find sin A and cofec A
What do you observe ? : :

8. Rehman observed the top of a temple at an angle of elevation of 30°, when the
observation point is 24 m. away from the foot of the temple, Find the height of
the temple.

9. Write mid-values of the following frequency distribution.
Class interval B-11 12-15 | 18-19 | 20-23 | 24-27 | 28-81 | 32-35
Frequency £ 4 5 13 20 14 8
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Note :

10. f(a)

11. (a)

(b

12, f(a)

()
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BECTION - 111 (Marks : 4x4=16)

1) Answerall the questions.

(@) Choose any one from each Gquestion.
(i) Each question carries 4 marks,

Prove that (sin A + mm3+{ma+mm3=7+mﬁa+mﬁa

OR

ﬁEEiﬂErightmgi&&tﬁangla,rightangledatﬂ.LatHﬂ-mﬂﬁ-b,
AB = ¢ and let p be the length of perpendicular from C on AB,

1 1 1
Prove that fi)pc =aband (i) ;E' ;I_g""b_z‘.

Find the median of the following data.

Classinterval | 11-15 | 168-20 | 21-25 26-30' | 31-35 | 96-40

Freguency 3 5 )\ S 12 T 4

'OR

In what ratio, does the point (- 4, B) divide the line segment joining the
points A(- 6, 10) and B(3, - 8) ?

Two dice are thrown at the same time. What ia the probability that the
sum of two numbers appearing on the top of the dice is (@) 10, () less
than or equal to 12, (¢) a prime number. (d) multiple of “3" ?

OR

A tree breaks due to storm and the broken part bends so that the top of

the tree touches the ground by making 30° angle with the ground. The
distance between the foot of the tree and the tap of the tree on the ground
18 6 m. Find the height of the tree before falling down.
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13. fa) Constructa triangle PQR, where QR = 5.5 cm, £Q = 65° and
Pq=ﬂmmmﬁammmgle,wmmdmm§ timesaf
the corresponding sides of APQR.

OR

) Drawa cirele of radiue 4 ¢m and draw a pair of tangents to the circle,
which are intersecting each other 6 cm away from the centre.
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* This Question Paper contains 8 Printed Pages.

16H(B)
MATHEMATICS, Paper - I1
(Hindi and English versions)
(Parts A and B)
Time : 2 hurs. 45 min.] [Maximum Marks : 40
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Part-B

Time : 30 minutes Marks = 1D

SECTION - IV (Marks : 20 x % = 10)
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(i) wEw ¥ & o fawey # 1 599 % 597 3 YAt 3u9 e snr (A, B, C, D)

w1 WA & wheE W e
14, fosH¥ .BDE-=... —
(A) 45°
(B} 65
(C) 75°
(D) &0°
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15. cos60° +sin30°wMAA = ......
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(C) cos90° (D) Bakc
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(A) wEEW (B) wfeas
(C) & (range) (D) =TS

17. mnEw e S e (—a,0),0,0) 30 F ...
A) (@b - ®) (9,0
© (o %) D) (%, bg)

18, PR SRR T e B

@ A=bh ® A= G-als-b)s-0)

(C) ﬂ=\f§Lg_-uj.s-b}{n—-c] (D) A#RC

19, TamETs w1 e ¥ Aot Ao L ST e

(A) i (B) dwn

(C) 3w = (D) wEw
20. Tw % = & o | i W e v e W e =

tA) 1 (B) 2

() 3 (D) =FT

21, #Aksec A + t:ﬂnﬂ=}'g HisecA—tan A = ...,

(A) B B I
©) 4 D %
16H(B) (21



22, oft Fest @ =t v #t s e S0 = fed S A

M T I T =
(4) 15° (B) 30°
(C) 45° (D 60°

23, FH-TORE = ...

(A) 60° (B) 80
(C) 180° (D) 270"

24. =i = W ww B v A % wd, @ vl & ol gm o e

& deEnst w9 18 79 5 wirem =
(A) -1 (B) 1
{(Cy 0 (D) 2

25. uft P(E) = 0.05, 7 P(E) = ....

(A) 0.5 (B) 0.95
(C) 9.5 (D), 0,095

26. 5,6,9, 109611, 4:6, 104 TH w1 WEwH = e,
(A) 4 B) &
(C) 6 3 (D) 10

27. tan B HFFI=........
(A} sech (B) eot
(C) cosecH (D) —-tan®

28, (sec®8-1) (cosectf=1)= ...

(A) 0 B 1
(C) tanfo (D) coto
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20, U W w= (2, 1) ¥ wm s RS PR 8, -4 =,

e R i -

(A) (1,8) B (-1,-6)

(C) (1,-8) (D) (-1,6)
30. W#EE;‘—E H o = N s

(A) d; : B) f

0) u (D) ®

31. Tavd AOABTIETFR = ...

(A) 123 sd (BT g

(C) 249w (D) 18 T emed
32, T gon o wiesm = e :

(A) -15 (By 24

(C) 0.7 (D) 115%
38. sin(B0-A) =15, WA=

(A) 80° (B) 45°

(C) &0° : (D) 90°
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16 (B)

MATHEMATICS, Paper - II
(English version)
(Parts A and B)

Time : 2 hrs. 45 min.] IMaximum Marks : 40

Instruction : Write the answers to the guestions in this Part-B on the Question
paper itself and attach it to the answer book of Part-A.

Part-B

Time : 30 minules Marks : 10

SECTION - IV (Marks : 20 x% = 10)
Note :

(i) |[Answerall the questions.

(ii) PBaeh guestion carries-#mark.

(itt) Marks will not be mearded in any case of over-written, retwritien or erosed
QrLELrETSs, . L -

fiv) Each gquestion has four options. Write the CAPITAL LETTERS
(A, B, C, D) showing the correct answer for the following questions in
the brockets provided agoinst them.

14. Inthefigure, FBDE = ..... [ 1
A (A) 45"
D (B) 85°
) 7"
iy 75 3
B E ¢ (D) 60F
16 (B) [5]



15. cos 607 + sin 80° valueis ..... I

w V37 B 1 |
(C) cos890° (D} BandC

16. X-coordinate of intersecting point of two ogives, represents .. I 1
{A) Mean (BY Median
(C) Range (D} Mode

17. Centroid of a triangle, whose vertices are (—a, 0), (0, b} and (g, 0ris... [ |

(&) (g, b) B (%4,0)
@ (o, &) M. (94, %]

18. The formula to find the area of a triangle is ..... - . ]
) A=Zbh @) A= ls-a)s-b)s-c)

(@ aA=Js(s-a)s-b)zs—¢) (D) AandC

19. The theofer Applied.todivide the line segment in the given ratiofs,.. [ |
{A) Pythagorus theorem {B) Thales theorem
(C) Euelid's theorem - (D) Brahmagupta theorem

90. The number of tangents drawn at the end points of the diameter is .... [ 1

(A 1 (B) 2
() 3 (D) Infinite
21. [fmﬁ+tauﬁ=}g,thmmﬂﬁ-tanﬁ=..., [ 1
(A) B §:
© 4 D 2
16 (B) [6]



______,———'—'-_-__

The length ufa}mdwuf&puleiaaqunlm the length of the pole,
thantheanglﬂuhheelwﬂﬁun of the Sun is ....

(A 15 () 3a0°
(C) 4B (D) 60°
Angle in a gemi-circle i8 ..

(A) 60° (B) o0°
() 180° , ) 270°

ThEpmhshﬂitgthnt&mﬂumnftwunmnheﬁappeaﬁﬂsmthatnp
nft'nedicaialE,whentwudimﬂrﬂmﬂedatthuﬂamamnﬂlu.....

(A) -1 B 1
(© 0 Dy 2
£ P(E) = 0.05, then P(E)= ...

(A) 05 (B) 085
(C) 9.5 (D) 0.095

Thé mode of the-dataf, 6,9, 1Gr672l, 4,6, 10,418
(A) N4 (B =t
() 6 ) 10

Reciprocal of tan o

(A) sect (B) cotB®
() cosecH (D) —tan

{.-,@-cﬂﬂ—n1.cna-e=c”:f|—1:|=

28.
(A) O ® 1
(C) tan”® (D) cot* O
16 (B) 17



28.

Another end of the diameter is ..... [
(A) (1,8 (B) (-1,-6)
() (1,-8) (D) (=1, 6)

30. The letter that represents 5;—“ , which is used in meaguring
mean is.... [
(A o (B) i
(C) (D) ¥

31. Inthe given figure, areaof ADABis ... ... [
(A) 42sgu; & G U L L
(C) 24 squ. (D) 18 =q.u.

82. Which of the following be the probability of an event 7 [
(A) —1.5 (B) 2.4
(C) 0.7 (D} 115%

33. sin(90-A) =1/ thenA=.. [
(A) 30° (B) 45°
() B0° D 90°
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The centre of the circle is (2, 1) and one end of the diameter is (3, = 4).




